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FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION FOR RECRUITMENT TO POSTS
IN BPS - 17 UNDER THE FEDERAL GOVERNMENT, 2006.

COMPULSORY QUESTION

Q8) Write only the correct answer in the Answer Booklet. Do not reproduce the
question.

1) Ploidy level of maize plant i
a) Diploid

b) Tetraploid

©) Hexaploid

d) None of these

2) Dajal is a breed of:
a) Milking animal

b) Draft animal

<) Pet animal

d) None of these

3) Seed cotton means:
a) Lint only

b) Seed without lint

c) Seed with lint

d) None of these

4) Hardy-Weinberg equi
a) Population Genetics
b) Genetic Engineering
<) Biometrical Genetics
d) Mendelian Genetics

rium provides basis for study of:

5) Maize plant has its origin in:
a) Russia

b) Africa

c) Middle East

d) America

6) Olericulture is the study dealing with:
a) Silk worm

b) Vegetable production

<) Honey bees

d) Oramental flowers

7) Gypsum is a rich source of:
a) Calcium + zinc

b) Calcium + Potassium

©) Calcium + sulphur

d) Calcium + nitrogen
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8) Banana fruit is classified in the category of
a) Berry

b) Pomes.

<) Sorosis

d) None of these

9) True potato seed is the:
a) Potato tuber used for propagation

b) Any plant part used for potato propagation

c) Seed developed within the fruit of potato
d) None of these

10) Eragate are the types of insects which are:
a) Workers in honey bee

b) Biting

) Workers in the species of ant

d) None of these

11) "CIMMYT" is an organization working for the improvement of:
a) Rice and cotton

b) Pulses and oilseeds

<) Dryland Agriculture

d) Wheat and maize

12) In various plant metabolic processes "PPP" stand for:
a) Plant Protection Procedures.

b) Produce Per Plant

<) Pentose Phosphate Pathway

d) None of these

13) Arachnids are the arthropods with:
a) Single pair of leg

b) Two pairs of legs

©) Three pairs of legs

d) Four pairs of legs

14) Sericulture means:
a) Rearing of honey bees
b) Rearing silk worms
<) Both (a) and (b)

d) None of these

15) The cotton species providing main raw material for texti
a) Gossypium hirsutum (Please confirm it)

b) Gossypium arboreum

€) Gossypium thurberi

d) None os these

industry i
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16) Inbred lines are developed through selection and inbreeding in:
a) Self pollinated crops

b) Cross pollinated crops

<) Asexually propagated crops.

d) None of these

17) safflower is:

a) An ornamental plant

b) Oil producing plant
<) Leguminous

d) Fibre producing plant

18) Continuous selfing
a) Improvment in yield
b) Poor in performance

<) Growth in vegetative parts
d) None of these

cross pollinated:

19) Soil structure can be improved with addition of:
a) Organic matter

b) Chemical fertilizers

) Gypsum

d) None of these

20) Synapsis of chromosomes occurs between:
a) Sister chromatids

b) Homologous chromosomes

<) Non homologous

d) None of these




